EARAROBEEIERT — 2 N— IBISH —F

2018%F3A31H () 23m{£E5H

IR C2—6# C2 ¥5%4m®L (xwlw | mEmml - v 5 o 8
[AE£] 1% :210,000” ~ 27%:48,000” ~ 337%&:19,000 ™ . 43%&:11,000 " 57 :6,000 0
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S w5 # o5 | WO 1:30.4 2-2-2-1 [38.8| — 2 493 | LB (ER)
1 4| A1 a bIAHT 56.0 =) oy | B J P NEEF
RiAL T3 R—F— BiALav XY = RS
= == e+ 2 =] :30. o . = KEFX (£8)
5 0| FaTAFSA b 4 8 L] 1(33/%5 3-3-3-3 | 38.7 1 (4_515) et =
L:TYHA XTI K B:EJRMN)—-JIXb FRESS
e s : —5-5-. — THERE (E8)
307 8| ¥5/ %02 it 6 e 1.(361>.6 5-5-5-4 | 39.3 3 3334) E =
LA T7AT7 B:v71—= B EHU5
NEN o H il : 76— — BAH—X (£8)
al7lo|VER>T UL o4 = (11.311/.5 7-7-6-6 | 39.1 7 (4_136) i
R:2=/XLLy b B:HLZRY EHG
N N MR :31. -1-1- . — IR (£8)
5181(10 Vb= > |\'7”/EI '7 * 6 54.0 1(33/14)9 =2 105 ! (4_516) RAETF -
L:¥riAnq4o— B:Fabyvany Fy o amEEMRASH T adk
S, 9= 46 | WOLN 1:32.1 9-8-8-5 [39.2| — 5 445 | HEBH (ER)
655 71T>#77- #55.0 6 o | @ F-F-1-x
L:A—Y XA 44 B:y—4-0-X HEAYKS
55 st 7 | BEER 1:32.7 4-4-4-7 | 40.7| — 10 475 | KIEEEK (1£5)
718l11| Y&#HZX A53.0 3) () |EREE .
R—bFA7a— B:Ariz—A EHEXa YK
= 5 s ft 5 | WTHE 1:32.7 8-9-9-8 |39.6| — 8 468 | BART (1£8)
sl 6| 7743 54.0 (2 E) (1) | REXR
XA a9R—5— B:Na5N fHERS
N RHEEC 132, —6-7- . — hEFE (£8)
ol 7 Gy b RExXxY 4 5 54_0L 1(312)9 6-6-7-9 | 40.1 6 ;1+535) /J\EE’c}HéE
L:FLNnvwyFItE B:va—-vFU-— B Bz
2 ST 4610 | AR 1:33.7 1-11-11-10{ 39.9 | — 9 477 | RABE (1£E)
10 1| ERA YDA 54.0 () +5) A(ﬁ]) JPﬁ:}j{Eﬂ
LB 2L E -7 B:vyFx—71 KL AT 45
5., s 4 | BFEA 1:34.7 10-10-10-11{ 41.0 | — 11 487 | FHBRPAIE (1£R)
13| 77v>—7T14 54.0 (5) () | Koz
R:vavrheT B:FAILTN-TA mE I
® I —F—@EBIERL
1d—7— 10,4,2,11,8,7,9,6,5,3,1
20—F— 10,4,2,11,8,7,9,5,6,3,1
Jol=5r= 10,4,2,11,8,9,7,5,6,3,1
43—F— 4,10,2,8,5,9,11,6,7,1,3
[ N3
BB 4 320M 714K 2-4 160H % E 2-4 390M 3EHE 2-4-8 580M
8 B 4 110 4-8 280M B & 2-4 330M K31 4-2-8 1,850M
2 110 2-8 270M B H 4-2 640M
8 120

ABICOVWTRDTEEERROODE. TR LIV,




